
®

MATERIALS & HARDWARE

CUTTING DIAGRAM

Table Saw Station
Issue #269     Volume 58     Number 1 JAN./FEB. 2002

TABLE SAW STATION
A (2) Sides (Maple) 3/4" x 61/4" x 231/2"
B (1) Bottom (Maple) 3/4" x 21/2" x 27"
C (1) Case Top (Maple) 3/4" x 73/8" x 27"
D (1) Divider (Ply) 1/2" x 23" x 27"
E (2) Doors (Ply) 1/2" x 1315/16" x 213/8"
F (1) Inner (wide) Leg (Ply) 1/2" x 251/2" x 225/8"
G (1) Outer (narrow) Leg (Ply) 1/2" x 24" x 225/8"
H (1) Fixed Top (Ply) 1/2" x 8" x 28"
I (1) Folding Top (Ply) 1/2" x 231/4" x 28"
J (2) Cleats (Maple) 3/4" x 11/4" x 231/4"
K (2) Keeper Blocks (Maple) 11/4" x 11/2" x 6"
L (1) Tool Base (Ply) 1/2" x 20" x 24"

OUTFEED SUPPORT
M (1) Crossbar (Maple) 11/2" x 3" x 261/4"
N (1) Cover (PVC) 11/4" x 261/4"
0 (2) Support Tubes (Conduit) 3/4" I.D. x 171/2"
P (4) Guide Blocks (Maple) 11/2" x 11/2" x 7"

HARDWARE* 
(42) #8 x 11/4" Fh Woodscrews
(10) 5/16" x 11/2" Threaded Knobs
(8) 5/16" T-Nuts
(2) Magnetic Catches/Strike Plates w/Screws  
(2) 5/16"-18 x 5/8" Threaded Inserts
(2) 25/8" x 15/8" Draw Catches w/Screws
(3) 11/16  x 48" Piano Hinges*

* Cut to fit ( 2 at 211/4", 2 at 181/2", 1 at 27")


